Model Question Paper
. Periodic Test- II
Class: IV
Subject : English
Time: 1;— Hours Full Marks : 40
Group-A (15 Marks)

1.  Read the passage carefully and choose the correct answer : 2x5=10
The monkey is in a cage. A boy gives it a sweet. It opens the paper. There is a stone inside. If feels
sad.

(a) Themonkeyisin___.(aforest/acage)

(b) Theboygivesit _ .(asweet/a chocolate)

(c) Themonkeyopensthe _____.(paper/pen)

(d) Inside thereisa . (stone/cake)

() Themonkeyfeels  .(sad/happy)

2. Match the Column A with ColumnB : liga=a

Column A Column-B

(a) Amilkman

(b) ADoctor

(c) APoliceman

(d) Ateacher

(e) Adriver
Group-B (10 Marks)
3.  Choose the correct answer : 1x2=2
(a) Whatis a pony?-
(i) aboby dog (i) a baby horse (iii) a baby cat

(b) Who held out a sheaf of green grass to the milkman’s cow-

(i) apoliceman (ii) a wrestler (iii) a little boy.



Answer the following questions (With in 10 words) : 1963 =3
() Who finally made the cow get up? (Prose- The Milkman’s Cow)

(b) What would the child give the donkey? (Poen- The Donkey)

(¢) What did the lady do to the Pony? (Poem- I had a little Pony)

Write the Past Tense of the following verbs : LE5=3
(a) Come =
(b) Pull 5
(c) Pray =
(d) Tug =
(e) Know =

Group- C (15 Marks)
Answer the following questions (With in 10-15 words) : 2%3=6
(a) Why did the cow refuse to get up? (Prose- The Milkman’s Cow)
(b) What did he learn about the bird? (Poem- Hiawatha)
(c) Who came to Akbar’s court? (Prose- The Scholar’s Mother Tongue)

Fill in the blanks with correct pronouns : 1 x4=4
Ram was a farmer. (He/She/It) wanted to sell (his/her/my) goats and sheep. So
he went to the market. There (he/you/she) sold all (his/your/my) animals to arich

man and got a lot of money.

Write a short paragraph on Our National Flag using the following hints-(with in 30 words) 5

ko

[ Our National Flag how many colours significance of the colours in the middle of
the flag there is we hoist flag on symbol of unity we should respect our National

Flag].
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F—TEet%t (Group-A) (15 Marks)
T Ao Sea e (Answer the following questions) :

@) b OF AT WY = (ro, 50, dd)
The number after 89 is ( 80, 90, 99)
() © % u= (3¢, 5%, %)
3 x 6= (15, 12, 18)
(ii) se¢—o = (3@, do, 58)
15—0= (15, 10, 14)

SI5E 2meteE ©ed 78 (Write the correct number) :

Fewzis 7d (Answer the following question)

(i) Reoteote= (Quo, 290, }¢e)
200+ 30 #5+= (60, 270, 255)

(i) (=TI (AT AT ACNS (Arrange in Ascending order)
TAET & €, 53, 98 Example : 15, 11, 19
Teg s oY, OE, OB Answer : 11, 15, 19
2% 3 wo, Yo, 0. Question : 30, 10, 20

(i) wo + &= (b, v, »)
=5 = (8, 6, 9)

<—fret (Group-B) (10 Marks)
NEF LA Teg e (Answer the following question) :
() 8o s Stef (T = Felit—

8 > )
@ ®) - © 3
1 part of 4 is written as.
4 1 3
(a) 1 (b) 4 (c) 2
(i) RAa+ 9=

27+ 3 =

i == (Full Marks) : 40

2%x3=6

3x3=9

1x4=4



o S
(i) :W&ﬂ'ﬂz?ﬂi‘ﬁ= i

Halfof 1 kg = gm.

(i) o /Tt et (Write True/False) :

%ﬁﬁﬁ: 3¢ GFBHEE

1
-4‘ Metre = 25 Centimetre

1
Q?F%WEWWEOW’{@TW‘{W@?WW? 2x1=2
Cost of half of a pumkinis Rs.10 then what will be price of full pumkin?
ﬁmn%ﬁm&mmﬁ,aﬁﬂ@imﬁmﬁmwﬁ%%? 4x1=4

Tina has not gone to school for 21 days. For how many weeks was she away from school?

s—faett (Group-C)
5T AR TSI WIS (Answer the following question) : 1x4=4
@ A«RBIELDT 0 @ oA @

Among the circles A and B whose radinns is greater?

A B
(if) To3/Ft T (Write True/False) :
/ V 3
= — oA £ part
277 g o0 o )
(iii) >0+ %0 = ?
110 +10= ?
Siex esieyE Gea e (Answer the following question) : 4x3=12

@) e R S S i | 8 oA g HE e |
Using Compas draw two circles. Show the Centre and Radius of the two circles.
@) iR coo B! Pl B e T @5 A 3 G e (1 5JCEN BiE—
(2) TR s00 BRE (5?2
(b) TG €o T G2
Razia wants change for Rs. 500. How many notes will she get if she wants in retrun?
(a) All 100 rupee notes?
(b) All 50 rupee notes?
(iii) 207 oiE TG ﬂ@-s:gaﬁmw,wwmwm?wmwm? 2+2=4

There are 20 stars. A quarter of them are red. How many stars are red?
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1.

Group-A
foTa=T #IiTet RS =TI (104 (Write the name of vegetablesin the answer scripts) : 1x3=3

o« 7

GFFATTEIUS (Answer in one word) : 2x3=6
() G 9% 97T I @t
Name ariver of Tripura.
(b) I AT P I & Ao e
Which bird lays egg in the nest of crow?
(c) (oM AT ©I2 (ol fF 237
How yourelated to your Mother’s borther?
AH AR A Te 5= (Read the following Sentences and answer) : 2 x3=6
€1 TETIR 1 | AfS =t oot SN AT coave e =i S &) (4o 2Age T | e 3o
A T T == oot weglae =7
Itis the month of July. Like every year, appa, my father, is preparing the field to sow the onion crop.
The seeds started to sprout after twenty days since the seeds were sown.
GF AT CET TS (Answer in one word) :
(a) I FPETR et I T T (IS UGS FARA ¢
For which seed is be sown, father preparing his field?
(b) G A coater e o0 a1 22
In which month onion seeds are sown?
(©) e+ Serfer wreplae =7

After days since the seed were sprout.



10.

<—fJei (Group-B)
ATE G2 B S RE Eedt (Match the column A & B):

A B
O T=_q 0O =
Salt Vegetable
()  Grawst (i) FOE ATTAOR
Tomato Should be drink by boiling it.
@ e (i) ST T AT
Water Dissolve in water.

et FaERe 2ugfemeeanie (Answer the following questions in short):

@) el M W THiR FF Afre qefe
Where did Nandita come along with mother in Mombai?

(ii) Atz [{fen e & W (e o wifeiet el e AT 2
Where does a list of food team displayed?

TREF7 Teg wie (Answer the following questions):

() eI & FiF 272
How does water get plluted or dirty?

4—fFei? (Group-C)
G AT TSI 1S (Answer in one word) :
(a) AT (g TR ifere =32
Where is the festival of Bihu celebrated?
() T e T AT 2
In which direction did the roots grow?
(©) sl e &= =t faeer 1 2
What will happen if nobody gives water to plant?
FwCA Tea wie (Answer the following questions):
(i) I & PR &) FiCeT (T AR 2
Why Basav will not come to school for few days?
@) GEF & for am okl =2
How does sunbird make its nest?
FEFE GeaWe (Answer the following questions in short):
() =3 rort 0gs WsRD (ore Areld &4
Why the neem tree did not tall despite?
FLCHC TeF w8 (Answer the following questions):
() IR A1 AR 7§ R e A @ 7 6 sy U ort e

1x3=3

2x2=4

skl =3

1x3=3

2¥2=4

3x1l=3

3+2=5

What vegetables used to carry by Baishali’s father to the market? Where do you see Oke

tree.



